New Maths GCSE: A16 - Equation of a Circle

Correct Answer: ABCD

xz -+ y2 =10 Explanation:

What are the co-ordinates of the centre
of this circle?

(0,0)  E (10,10) | oo

(5,5) B (VI0,VI0) | oo

Correct Answer: ABCD

x? + y? = 9 sl

What is the radius of this circle?

3 m 45 S

B 9 B 81 | e

Correct Answer: ABCD

xz + y2 — 1l Explanation:

What is the length of the radius of this

circle?
121 Bl 5.5 |
11 Lo Y T
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x‘+y% =16

What is the length of the diameter of this
circle?

L I 2 4

B 16 B 2

Which of the following gives the
equation of a circle with radius 6 and
centre (0, 0)?

Bx2+y2=v6Bx*+y*=6

Hx2+y2=12 Bx*+y*=36

What is the ‘ '
equation of this CiEy

circle?

Bx*+y>°=5 BHx*+y2=10

B x24+y2=25Bx2+y2=+5

What is the
equation of this :
circle? G T B A T

o

Bx2+y2=5 @Ex?+y%=20

Hx?+y2=100@x*+y*=10
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Which of the
following could be
the equation of
this circle?

Bx*+y2=8 Bx*+y>=28

Ax2+y?=10 @*x*+y*=14

Which diagram
x2 + y2 =19 SIS
two equations?
y=x+5 -

H

x2+y
y=3x+1

@

Which of the following
diagrams represents
the solution to the two

¥

. 1
=D
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